N/ SHINSEI
S

C SHUT-OFF UNIT FOR OPERATOR

A-108 A-808 EMY-242

£ S A—108 A—3808 EMY —242 A—258 A—921

Model

e # 77 X WEED) - [ kY
Operating system Power-on start, self-stop type
& w7 X FH CLe FH)
Resetting system Manual reset Automatic reset Manual reset
HEiE~—)

In-house evaluation mark

il Y R

Permit No.

C—02—5 C—02—7 C—02—9 C—02—14 C—02—38

fET) : DC24V
% 1% % E DC24V - Acllvalm,n DC24V
Rated supply voltage {E‘J’ﬂaa‘ T AC100V Tﬁ’}‘% : AC200V

Reset Reset
AR BT DC18V

in. operating voltag

7'V — R 35N 35N 58. 8N 34N 60N

Brake release force

e & f5 = DC24V lafri

singnal confirmation la contact

i B PH B

Applicable

(B—% )

(motor output)

T B PSR E HYs ) —X HF2 Y — X _

pplicable hand-operating shut-off uni HY series HF series

P PR RSB S—108 -

ower limit stop devic

JB e - Tt FEBfER 1 ~ 2

Explosion class Flame-proof type
JE K JE - G1~G4
gnition categor

% 1, BMY-2421C431.5kW - 2.2kWH b H D £7,
Notes: 2 A-108, HY> Y —X L OIS 2 PIRMSHIEEEES-108b H D £ 77,

1. The EYE-242 is also available in 1.5 kW and 2.2 kW types.
2. The S-108 lower-limit stop device 1is also available for use with the A-108 HY series.

0.075~0. 4kW 0. 75kW 0.075~0. 25kW 0.4~0. 75kW

Explosion-proof  desight

e i




HAND-OPERATING

SHUT-OFF

UNIT FOR

OPERATOR

SHINSEI

i =Y HY> ) — X HF> ) —X
Series HY series HF series
Jodel H HY—1US HY—1RS HY —2US HY —2RS HF—1US HF—1RS HF —2US HF —2RS
HHARY AR HHAAY # HAR EATREE] HHARY #
:ﬂ:; :Ht Flush-mounted type | Exposed type | Flush-mounted type | Exposed type | Flush-mounted type | Exposed type | Flush-mounted type | Exposed type
g Type ﬁﬁ
Key-locked type
e & 7 K W % G5 513R D 1EE) /520
Operating system Release control system Pull control system
(£ fF 75 i) (fEEpHI 2 #119) (727 U A2 LI D 5] & 52 FHTICE <)
(Operation method) (Pressing the start button) (Brepking the acrylic sheet and pulling the sliding door toward vour

elf)

U

Resetting method

BmL N—Z LR

Pushing back the reset lever

HEIPASEEE DGR Y > 7 2 5] <

Pulling the reset ring of the automatic shut-off unit

@& sk B AR

Halfway stop function

(#% fF 5 %)

(Operation method)

Provided

(L N—Z2 I LRT)

(Pushing back the reset lever)

E% B B R _ Wik (2a, 1b) — Mg (2a, 1b)
2 = Contact composition Built-in (2a, 1b) Built-in (2a, 1b)
13 e o 54 AC 250V 5A AC 250V
vI| BAER - (EHLELD) - (EHeELD)
'?L Dg_ 50, AC 250V (resistance load) 5A, AC 250V (resistance load)
. " | |
S H P A—108 A—808 | EMY—242 | A—25S
" Sttt unit | |
| |
A@ﬁﬂﬁﬂﬁﬁ(%—mﬂ) 0.075~0. 4kW 0.075~0. 4kW ! 0. 75kW 10.075~0. 25kW
pplicable (motor output) | |
| |
i & 1. BHRY 7 A, HEAR y 7 2 3BEARLH D 7,
Notes: 2 HYS Y —XDBEHA Y 7 ZAZBAT VLA (N7 74 V) filgbdh 7,
3. Y2 U =X EfFHT 2 TIREIREES —108b H D £ 97,
1. The exposed-type and flush-mounted type boxes can be coated upon request.
2. The HY series exposed control box 1is available in stainless steel (hair-lined) type too.

3. The S-108 lower limit stop device is also available for common use with the HY series.




T L SHiNSE

LOWER LIMIT STOP DEVICE

S-108

7 = S—108R S—108R2
Yodel S—108L S—108L 2
76N ({EBhikE)
1’/|3 Ej 7] 76N (operation)
Operating force 118N ( R }\ B%)
118N (reset)
A =i — o
} Stroke 7 10
i A i ~10~40°C
Ambient operating temperature
a % L ¢ 42 31. 5
Effective turns 42 turns 31.5 turns
[T S G R 13[uliis 9. 75
Reset turns 13 turns 9.75 turns
i i Bl P B (€ — & ) 0.075~0. 4kW

Applicable (motor output)

fii %

Notes




5 B PH L [ S ] B PH SRS E AT X

AUTOMATIC SHUT-OFF UNIT APPEARANCE VIEW AUTOMATIC SHUT-OFF UNIT SETUP VIEW

A—108 A—808 A—108 A—808
PR b (M5X 18 ) ) ‘ 105 35.2 SR
vk (M5X18) FERET A % — ‘ L " )

fEBY7 A ¥ — Adjusting Dbolt (M5 X 18) Manual -control wire Adjusting bolt
Control wire N [ il ”‘M(‘\‘I"‘:X"}%l‘w
25 TAX=T I W7 I Fo FHER L b (M5 18)
l Outer wire harness | o ‘ p— “‘v“—“” bolt (M5 % 18)
T — - = o (C S g K] &
!_l__._. —
i N/
© I

1 T
0 o ‘ 2600

1] _mi

By |
‘ == T 1 s | . N i
U - (M5 x18)
1500 —
40 Adjusting bolt SN 2 -
+1f (M5 % 18) ] L]—I'_‘:

A—108 A—808

p e ——— TL—%r—% s X
5 - Brake case / il 4 Nl
240 10 60 / 230 ) / TMsxan) FL—xhr—2 Zu—a%)l/,\—nwu +
/ Brake lever bolt (N8X40) — M8 x40
90 / 300 e \ A Brake case Brake lever bolt (M8x40)
| -5 —
7
Manual-reset ‘
|
\ |
|
|

89

2!

=

&
Y+

=

BT A X — 100 13.5 9.5 Wotor

wire T

EMY —242 . T~ ] !
] \ 7 V—F%7r—2 \ Adjusting bolt (M5x25)

== - —,iug L - ©
= =
| i =] - — =
% ES ﬂ Siss Iy v
2.5 2 5 . y HEFE L N—
[T | avity fall lever EEC AN
5011 ig 115 L} Gravity fall lever
12.5 35 5 :
EMY —242 A—25S EMY —242 A—25S
% .
FHFRET A v — 179 39
E [Manual-control wire f —
& / 7Y 8 —lHE R FL—F L= b S - > S m—
) . . / | Outer fixture (M5 X 25) \ D
BN (A b 0—7 B 4-¢6 93 2600 ‘\\ 1500 ]{1':1\\':)(' lever bolt (M5 2‘:"! | I }m \ P
just | scer 102 32 7 (I ‘ i ! ‘ @ - —= N
adjustiment) . \
i R = )

EES x|: = —
' ' A 8 “P /]‘T A‘J o Brake case \ TR
o~ ! ‘
' —_— ] - ) EA—40 (M5 x 25)
AR H ) h VAW AN TL—%7r—2A T R L
aret o = | 102 olenotd Brake case \ AT A e )
E acturing ate - ' solel \
code stamped ; — . \ \‘ e
k ‘ 8 Adjusting screu \ Brake lever bolt (M8x40)
: 50 240 179 e Adjusting screm
& 300 . < e < \
300 from the main unit J ! H \
—_—> ]

— ill -

A X D 900 %
900 from the main unft 58 |:_ - x
== FORAET £ — = b =
Manual-control wire ‘ “ ”
Manual-reset wire $ $
=== I %Q IN
L 3 5
Afh & 1500 T 2600 T
1500 from the main unit /
45 15.5 .
[HERE T L v —
Gravity fall lever
VEiv b ALy F
A_921 N TN Limit switch A_921
R T OV TR 308
[I]::fw‘n":lxilnann ladel \ HY—IF LRy 7R
2], 210 Terminal box
« . ™
= N mRYyy =
s \ = eset rins IVEZTINT v FV T N B~
\ + I_ Flexible fitting To interlock control panc
@ 1 \
3 s T i == B
- !
+—i4 : Y=Y I Iy Fs
) \ 4-¢10 GHEBIB Y L 4 F 187 Sealing fitting _}_H
SN Flame-proof type — I3
IEFIICZUJH?;T%\L screws " ["1!'3[[»]\n.\un]w)i]mm! solenoid| 230 N }—J
- PF1/25F41H L '
S — PFl/2parallel screws
=)
S
o3 j -
i I
. - fEB)7 4 o — \ g
>
- Brake release wire / \
74X =775 1000 + /
TAR—I500 - AT TG G- 308
N Outer wire : 1000+ Wire : 1500+ long. 1.5 dia.
= — A—921
¥ E skt v 7 B 7 A ¥ —

Reset ring Brake release wire

296




o] 1% [X]

CIRCUIT DIAGRAM

A—108 - A—808 - EMY—242

i

©

—\

Confirm Y,

©

3

=

CR

Power source

©

9\r

=

A—258

(fF B i)

(Control panel)

NO

®
Pl

VAV SN

Solenoid

SOL :

MSI
NC

MS2

DC SOL:DCY Vv /A F

DC Solenoid CoM CoM

o H
Blue
|
|
=N |
GRS 1
Power source {
TRETERM - - - - - -
Start confirm line

A—-921

©;

AC SOL : ACY LV /A F

AC Solenoid

h o ¥

| Red | Yel low

| 1

| [

il : —
-4 Sl
_____ r Reset line

ACI00V, AC200V

N

SOL: YL/ AF

Solenoid

L)

4 I

Power source

fife G2 #t
Confirm

Y—IF LKy 7R

Terminal box

A-921 44K

A-921 main unit




FHIEA IS YT X

MANUAL OPERATING SHUT-OFF UNIT SETUP VIEW

HY> =X

FHIFHEEENEX

MANUAL OPERATING SHUT-OFF UNIT APPEARANCE VIEW

HY series HY series
2-921
100
JIGTIR —
71.5(76) Knock-out 625 _ 88095) 605
| 4
1 e
6 (74) | { a |l
T — T i
I 5 ]
i |- -
| N ‘ 2 e
| Spp— . T I \ % ‘f
‘/RLN—
Reset lever — ‘ v B
mRELN— Knock-out
Reset lever | 4928/ v 977+
R 0w rmEeFEMT _
To be machined top and bottom o
\ >
N’ \ i
b ‘
|
= |
=
g g g g|
i {
5 |
csens | |
@< |
} 5 \| |
; \
/ \ \ e
tremray /| ‘ N\ ZE# Double door S
Y o e o o ©
|| R o TSN S ALES
SUS304 hairline finish
N == 1 I=PAN
¥ ( )WTEIEBREDRE
*Dimensions in parentheses are for the exposed type.
HF> 1 —X HF> U —X
HF series HF series
2-921
66(65.5) STk 174(181)
. Knock-out M HF2000HE ]
In the case of
[ N—
6 RFTDL0EA
‘ In the case of
R 1 ]
- 2 ~ 0 -
T 77:‘—:* &/ = @
N\ N - . g g
/ | ]
‘ U‘ |
v
7 T — °
2-921 / 43 43
SYITIR
Knock-out
186
[ HF-2000858
100 in the case of
HF-TC08E ‘
In’ the case of
— { iwl :
= 2
2 o =
- 38
ORI ULRERLBOS -
EMEFALCSI<EDw
| SEEsELiss ‘
D7 EINTFEN.
DA | | =
14 72 4 72 14\
|| N\_ZEHE Double door )
SUS304N7' 51 L EIF
SUS304 hairline finish

HY> ) —X

¥ () ATERELHEDES

*Dimensions in parenthe

ses are for the exposed type.

EENT A v —

CONTROL WIRE

FEFFHEEHYY ) — X & BEIRAHEEEA-108%Z D7 CIEEN T A V— I3 TEEDRE W EBRL TR E L,

Refer to the table below in order to select the right control wire to be connected between the HY series hand-operating shut-off unit and the A-108

automatic shut-off unit.

L2%20

[P—

150 L1

200

= .
/j':E'\ .
NOTE: Applicable opening height is referred to average

72— (hL&EL)
K FEPPASHEEICFER
Outer covering (No crimping)

*Contained in the manual operating shut-off unit

BAROS S IMRENGHE ) TDIETT,

installation.

HFS U —2

1@17{4 17—‘0)%%
Types of control wires
— A= N =X
T b0 20 RS
SW-15T 1500 1850 2.0
SW-30T 3000 3350 3.5
SW-40T 4000 4350 4.5
SW-50T 5000 5350 5.5
SW-70T 7000 7350 7.5
SW-100T 10000 10350 10.5
SW-120T 12000 12350 12.5
s A X
System layout
HY>1)—X
HY series HF series
737y b BERY PS4

Bracket Winding drum

BT A Y —
(B BIFASEETE + FHIRAHERE)
Control wire

Automatic shut-off unit +
Hand-operating shut-off unit)

Lower-limit stop device™ Automatic shut-off unit

TRRELLEE BENRREEE
T — A-108

TAY=Tvt>rTV
(EBIEAHETE + TIRIFLLEE)
Wire assembly

(Automatic shut-off unit +
Lower-limit stop device

BB

Operator

BIRE

Conduit tube\

%)
f

FoEsEE |
HY-2(]

Hand-operating
shut-off unit

I35y b
Bracket

FEERT AV —

Manual-reset wire

Conduit tube\

FEIRASHREE
HF-200
Hand-operating
shut-off unit

EBERY FS LA
Winding drum

/

FHIRET AT —
(BENEASERTE + FEHEATERE)
Manual-control wire

Automatic shut-off unit +
Hand-operating shut-off unit)

Automatic shut-off unit
BEFHEE
A-808

Operator

BIRE

N

0




LOWER LIMIT STOP DEVICE APPEARANCE

TIRFLE XIS

VIEW

ULC—12D

U

TAY—=7ve>rT)

LC—25D

1R 2l B an B

PACKAGE CONTENTS

® BEFAHEE

Automatic shut-off unit

Wire assembly

T ::
TIREIEEE =g - -—F
Lower limit “

stop device B S +

S—108

A—108

TAY—=7vtrT)

Wire assembly

T8
y
= = N
XEWOIF 2R EME Y AR (BEAEEF) RUOT7Z7y MEEELTEXLTLREEL,
*When ordering, specify the operator to be used, the operator setup position (right or left), and the brackets.
= bl v
TRIEIEEENEHX]
LOWER LIMIT STOP DEVICE SETUP VIEW
= B N
TR{ZIEREE mRAX
LOWER LIMIT STOP DEVICE PERFORMANCE CHART
] ULC—12D _
App\ica&ﬁsﬁhﬁﬁfﬁfﬁrator (07D y 10D) ULC—25D
. C12—R2—175 C25—R—148848MA) | C25—R2—14&E48M)
ﬁm—gn% ‘ E H% g’: C12_R_.|75 Single-phase Single-phase
TRRISLEEEE |fonthand set v C12—R2—110U CZS_R_Q%E’E%@S C25_R2_12§|§§§EZ
A=
Qﬁ?g?gityff of C12—1L2—110 C25—L—1758548M) | C25—L2—1758548R)
a_pph'cab\e \ow_er E H% g’: C12_L_11O Single-phase Single-phase
limit stop device Left-hand set up C12—12—175U C25—L—153=#BF) | C25—L2—153=48MA)
Three-phase Three-phase
FZLR70 7 v MBS 40T | 50T | 60T | 40T | 50T | 60T | 42T | 52T | 42T | 52T
@ |FEATY b Hj%m?méh(em 39u) (2.8 |22¢p |26us) 21w [16es |3.068 [23¢e [2.768 |1.6068
glone side slatted HiM'%.'%_S(m) 83ue) [83we [83we [83us |83wue |75uwe |91 [9.16B |9.168 |9.1068
FH ® Eax\r_nim height
S - Hﬁﬁ'%é(m) 34@p) |26 |20 [23w@ [1.9ws |14ws |2.768 |2.168 |20 |1.668
%ﬁfﬁ ﬁﬁxjx\/l\ El\/h_‘;:nl:hlm_khe\ght
goth sides satted Hﬁ@ﬁhh(rg‘h)t 784 |7.8us |78we |78us |78us) |64we |9Tse [9.716B |8.668 |63 68
< Eaxw‘_n:ilm el
Fﬁk:/_ L Eﬁ%@mﬁggz 2.5(¢p145) | 2.0(p145) | 1.7(0145) | 1.9(p145) | 1.6(p145) | 1.3(p145) | 1.9(p145) | 1.5(0145) | 1.5(0145) | 1.2(145)
Fireproof sheet Eﬁﬁﬁgh(efm 8.0(0145) | 6.4(0145) | 5.3(0145) | 6.0(0145) | 4.8(¢145) | 4.0(0145) | 6.0(145) | 4.8(p145) | 4.5(p145) | 3.6(p145)

A-108
BENRASHEBE AR
TA4Y—=0>>7 2@
7 L—FN\—=R)l +(M8X40)
FEER)L b (M5X25)
ERiRaiEAE
A-108
Automatic shut-off unit
Wire clamp, 2 pcs.
Brake lever bolt (M8x40)

Adjusting bolt (M5x25)
Instruction Manual

A-25S
SE[ESE B XN
TUE—EEeE

TAY—1EHRCMAXT10 1K)

Eg (FFU4)

RAT Y b(M4)

AEERIV M (M5X25 1K)

HilEHmAE

EA-40

Automatic shut-off unit
Outer fixture

Wire lock screw (M4x10, 1 pc.)

Washer (nominal 4)

Hex nut (M4)

Adjusting bolt (M5x25, 1 pc.)
Instruction Manual

® FEFfEKE

Hand-operating shut-off unit

HY> 1) —X
FHRFHEEAE
FE& T (P-5.5)

EiREEAE

HY series

Hand-operating shut-off unit

Press-fitting terminal (P-5.5)
Instruction Manualction Manual

® FRFLEE

Lower limit stop device

S-108
TRRIZIEEBE A
N A AVE Y|
Bf4£8
7A4RKRZEY
BfTER
iV ET =

@
N\

S-108
Lower-limit stop device
Wire assembly
Fixture
Idler gear
Mounting screw
Instruction Manual

A-808
SEEFEE XN
DAY =7 02—B7>7)
NATUTARIL (M8 X 40)
FAEERIL b (M5 X 25)-++0.4kw
g
EER)—T &
A-808
Automatic shut-off unit
Wire outer fixture
Hex socket bolt (M8x40)
Adjusting bolt (M5x25), for 0.4 kW
Rin
Pregs—fitting sleeve, 1 pc.

A-921

HENRATHEE B AR

DAY —7 72— @8R
NIV bty ~(M8X40)
SHEERIV M(M5X30) -4ty b
EERU—T 2@

Bt EDHEEL
Bt —Ib
A-921

Automatic shut-off unit
Wire outer reinforcement
Set of bolts (M8x40)
Adjusting bolt (M5x30), 4 sets
Press-fitting sleeve, 2 pcs.
Installation Instructions
Labels

HFS U —X
FHPRUEBEAL

TFIUTHMNR D (MAX 20 47F)

IWZES (U4 47)
HLBYUR 2K
EikERAE

EMY-242
BENFHEEARE
TAV—=702—B7 T
Efdta C(M5X 10 44)

EMY-242
Automatic shut-off unit
Wire outer fixture

Lock screw (M5x10, 4 pcs.)

HF series
Hand-operating shut-off unit
Cross-recessed head round machine screw
(M4x20, 4 pcs.)

Angle washer (nominal 4, 4 pcs.)

Breaking sheet, 2 pcs.

Instruction Manual

MERBRIN =

SHINSEI SEIKI CO.,LTD.

é"l- | A
illaex © " JAB

150 14001/JI5 Q 14001
E99—-106
& I 5 RE004

||| JET
. REGISTERED FIRM
[]

0
1SO 9001/ JIS Q 9001 QS Accreditation
JET - 009 RO13

XMURARDD, FEGARDEEZT DI ENBYET,

Specifications subject to change for product improvement without prior notice.

HOREHIMIET

All rights reserved. No part may be reproduced or transmitted without permission.

XPARAL B ENRASHEE(A-921)ITIEF T3
& LT R RRERRO ARLTVET,

¥The explosion-proof automatic shut-off unit (A-921)
comes with optional explosion-proof piping materials.

E%&%@Fﬁ LT}J‘ U i 3_ Recycled paper is used.

1-03.7




	s-108_Part1
	s-108_Part2
	s-108_Part3
	s-108_Part4
	s-108_Part5
	s-108_Part6
	s-108_Part7

